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Definition

Let f be a function with derivatives of all orders throughout some interval containing a as an interior point.
Then the Taylor series generated by f at x=a is

Zf(i(a)( x—a)* = f(a)+ f'(a)(x—a)+ ;(?)(X‘a)2+"'+f(nrzl(a)(x_a)um

The Maclaurin series of f isthe Taylor series generated by f at x=0, or
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Definition

Let f be a function with derivatives of order k for k =1,2,...,N in some interval containing a as an interior
point. Then for any integer n from 0 through N, the Taylor polynomial of order n generated by f at x=a
is the polynomial

P.(x)=f(a)+ f’(a)(x—a)+%(x—a)2 +--~+%(x—a)k +--~+%(x—a)”.

Table 10.1 Frequently Used Taylor Series (from section 10.10)
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